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TR | rops inis | 4 1 BN | 26RE 0\ | RIOBE A0 | A 1B A0S | ZFBTOREAND

=z EFET |FHOMET|FHROBET| FHRMET| FHRBET| FHRIBET
ZEME 700 900 700 1,600 1,600 2,300

HBEE 600 800 600 1,400 1,400 2,000

2% EEE 900 1,200 900 2,100 2,100 3,000
Mm=E 800 1,100 800 1,900 1,900 2,700

HEpEES 800 1,100 800 1,900 1,900 2,700

BrE 800 1,100 800 1,900 1,900 2,700

3 SERE 600 700 600 1,300 1,300 1,900
B E 3,200 4,300 3,200 7,500 7,500 10,700

(2) E45E (g )
BRI | aoms inis | i B VD | R 2685 50D | R RTORS DS | 41 BEAND | R RTOBEAND

=z EFET |FHoMET|FHROBET| FHRMET| FHRBET| FHRIBET
INSEE 400 500 400 900 900 1,300

ol SEF 600 800 600 1,400 1,400 2,000
M = 300 400 300 700 700 1,000

SRIEE 500 700 500 1,200 1,200 1,700

3 SEBE 1,000 1,300 1,000 2,300 2,300 3,300
(3) BFHE (i [)
BRI 2 aoms s | B 2D | 6B AN D | FBIORS DD | 1 1BS VD | AR BTOREAND

=z EFET |FHoMET|FROBET| FHRMET| FRBET| FHRIBET
IT#H=E 600 800 600 1,400 1,400 2,000

10 FEE 300 400 300 700 700 1,000
SEE 200 300 200 500 500 700

SEE 1,100 1,500 1,100 2,600 2,600 3,700

2 m=E 300 400 300 700 700 1,000
INSERE 200 300 200 500 500 700




